Rev2HW1:  Answers to the “Course Excerpt” Multiple Choice Homework  
	1.    A

2.    C

3.    B

4.    B

5.    B

6.    A

7.    A

8.    E

9.    E


	10.  C

11.  C

12.  A

13.  E

14.  D

15.  E

16.  D

17.  C

18.  D




Rev2HW1: 2001 #5 

PHARMACY Problem

In order to get a 4, you must do a MATCHED PAIR t-test.  The data are match by pharmacy.  If you did a 2-sample t-test…you can still get a 3 with all parts correct.  Here are the parts correct…each is worth a point.
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Part 1:  
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 = true mean difference in amount of active ingredient for the generic and name brands.

Part 2:  Identifies correct test by name or by formula and checks appropriate assumptions.

*SRS?  Yes random is given

*Normal?  MUST graph the DIFFERENCES (1, -4, -5, -13, 0, -7, -5, -8, -9, -16)  in a graph…stemplot, histogram, box and whisker or normal prob plot) and make a statement about why normality is OK (For example…since the normal prob plot is fairly linear, it is OK to assume our data in normal)

Part 3:  Correct Mechanics, including test statistic, DF and P-value


t = -3.96
df = 10-1= 9

P-value = .00332

(Note, if you subtracted name brand – generic, your t = 3.96 is A-OK!)

Part 4:  Correct conclusion in context

Because the P-value is so small (or smaller than some alpha), we reject Ho.  There is evidence that the mean amount of active ingredient is not the same for name brand and generic drugs.

Rev2HW2:  Acorn Book Multiple Choice Answers   
	1. A

2. C

3. E

4. B

5. A

6. A

7. D


	8. E

9. B (but a case could be made for E)

10. E

11. D

12. E

13. B

14. A




Rev2HW2:  (2002B #1-3) Swine Population, Airlines and pain magnets 

1.  SWINE POPULATION

   a) scatter plot with axis scaled and labeled

  b) strong positive linear relation between ________ and_________ (depends on how you 

      drew your scatter plot

   c) reference both the positive correlation and increasing slope of scatter plot line

   d) 
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2.   AIRLINE SEATS 
a) .46+.30+.16  , these are all the situations where people get a seat

    b) multiply each column and then add = 4.1

    c) 
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3) PAIN MAGNETS

 a) draw chart for a completely randomized design and show randomization (names in a hat, shake) , treatment groups (magnets and no magnets), and measure and compare pain (context)
    b) block by gender and state why .  Show the diagram
To see the full AP scoring guidelines for these questions, please click the following link and look at the first 3 questions.

http://apcentral.collegeboard.com/apc/public/repository/b_sg_statistics_02_11597.pdf
Rev2HW3:  AP Practice Test Multiple Choice (See 2007 Answer Key Handout) 
For solutions go to:  http://iselinmath.weebly.com/uploads/2/8/4/1/2841645/2007_mc_solutions.pdf
Rev2HW4:  2007B #6 

a) Part 1:  
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 where 
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true proportion of becoming extinct in large islands and 
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Part 2: Correct formula : 
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   and  assumptions checked:

Random sample given for BOTH, normal check np and n(1-p) >10 for both, 10 n < pop for both
Part 3:  p value close to 0 and z = -3.84

Part 4: since the P-value is so small, there is strong evidence to reject Ho.  There is evidence that the true proportion of species becoming extinct is larger is small islands than large islands.
b) Part 1: formula :  
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Part 2: assumptions: RS, residual plots show no pattern and the scatter plot is linear 

Part 3: df = 11   t*= 2.20,  (-0.0668, -0.0396)

Part 4: We are 95% confident that the true slope of the line of proportion extinct in 2000 versus ln(area) is between -.0668 and -.0396.
c) Not reasonable because 0 is not in the 95% confidence interval which means that there is evidence that as area increases, the proportion of extinct species decreases in the larger islands…the larger the island the less likely species become extinct.
d) large preserve because it is expected a larger number of species will survive in comparison to the 5 small islands   (do not use evidence from a and b)

Rev2HW4 (cont):  2006 #6 

Pages 19-21 of:
http://apcentral.collegeboard.com/apc/public/repository/_ap06_statistics_sg_revised.pdf
Rev2HW5:  Overhaul the system? (2002B#4)

a) 

Random?  Given as a random sample

Normal?  1026(.39) > 10 and 1026(.61) > 10  Yes

Independent?  10(1026) < population of US adults?  Yes
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We are 95% confident that the true proportion of people that want to make major changes to the system is between .3600 and .4197.

b)

Option 1:  The 39% is not taking into account the people that totally wanted to overhaul the system.  If you take these people into account, that would be 58% that want major changes or overhaul which is higher than the 41%.

Option 2:  In the confidence interval above, .41 is IN the interval which means the true proportion of people wanting major changes could be .41 which would make this equal to the 41% that want no changes or minor changes.

Scoring:

a) Conditions = E
Formula and correct calculation = E

Sentence in context = E
b)  one of the two options communicated clearly in context = E (no context = P)

Obstacle Course Boxplots (2002B #5)

a)  (Boxplots labeled as “Students” and “Faculty” on the SAME SCALE

b)  “Variability” means spread.  Looking at the boxplots, the middle 50% (the box part) seems to have about the same variability or spread for both the students and the faculty.  The tails however are different.  The lower and upper 25% is much more spread out for the faculty than the students.

c)  Compare the center, shape and spread of the distributions.  For example:  In general, it looks like the students ran the obstacle course faster than the faculty.  The students median was lower than the faculty’s median.  Both graphs are slightly skewed right which means that the “slower” people had times that were more spread out.  The students’ range is smaller than the teacher’s range

Scoring:

a)  
E if the 1. boxplots are constructed correctly 2. Both labeled and  3. On the Same Scale.  


P if only 2 of the three are done

b)  
E if both the middle chunk and end pieces of the data are addressed


P if you say “Faculty is more spread than the students” and use any measure of spread to do this

c)  
E if you compare 2 of the following: Center, Shape, Spread IN CONTEXT


P if you compare 2 of the following: Center, Shape, Spread not in context OR


P if you compare only one of them in context

Rev2HW5 (cont):  1997 #4, 5 and 2002B #4, 5 
Voters Question (1997#4)


[image: image11.wmf]0

0

:

2

1

2

1

0

>

-

=

-

p

p

H

p

p

H

a

, where 
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true proportion of voters favoring the new candidate before incident




and 
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Random?  Given for both

Normal?  
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 All OK

Independent?  
10(415) < total # registered voters




10(630) < total # registered voters  Yes for both
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= 1.08

P-value = 0.14

Since the P-value is so high (or greater than some chosen 
[image: image20.wmf]a

, we do not have evidence to reject Ho.  There is not enough evidence to say that the proportion of voters favoring the candidate was greater before the incedent.

Scoring:

Hypotheses and Formula = E
Conditions = E
Correct z-score and P-value = E
Conclusion in Context = E
Ovens Question (1997 #5)
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 where 
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 is the true mean difference in the percentage of defective chips (oven A – B)

SRS?  Given as randomly assigned 

Normal?  MUST make a graph of the differences…dotplot, histogram,  boxplot or normal prob plot.

Independent?  10(9) < total number of hours?  Yes
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P-value = 0.46   (For a 2-sample test, t = 0.519, P = 0.61)

Since the P-value is so high (or bigger than a chosen  
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, there is not enough evident to reject Ho.  There is not enough evidence to say there is a difference in the percentage of defiective chips in Oven A and oven B

Scoring:

Hypotheses and Formula = E
Conditions = E
Correct z-score and P-value = E
Conclusion in Context = E
 (If you did a perfect 2-sample t-test, that would be a 3)

Rev2HW6:    Random Multiple Choice Practice

	1.  D
	6.  D

	2.  B
	7.  C

	3.  B  
	8.  D

	4.  D
	9.  B

	5.  NONE
	10.  D


​​​​​​​​​​​​​​​​__________________________________________________________________________
Rev2HW8:  Full Free Response Practice 
See full scoring rubric at:

http://apcentral.collegeboard.com/apc/public/repository/ap10_statistics_form_b_sgs.pdf
� EMBED Equation.3  ���
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